
Economic Commission for Latin America and the Caribbean (ECLAC). Life Tables.
Demographic Observatory, Latin America and the Caribbean (LC/PUB.2017/20-P).
Santiago: United Nations, 2017.
Downloaded from https://www.cepal.org/en/node/44746 (14.01.2019).

https://www.cepal.org/en/node/44746


OBSERVATORIO
DEMOGRÁFICO

América Latina
y el Caribe

DEMOGRAPHIC
OBSERVATORY
Latin America  
and the Caribbean

2 0 1 7

Tablas de  
mortalidad

Life 
tables



142

ECLAC • Latin America and the Caribbean. Demographic Observatory 2017	 Life tables

Cuadro 14 (continuación 2)/Table 14 (continued 2)
México: tablas abreviadas de mortalidada

Mexico: abridged life tables 
a

1970

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.088 0.083  100 000  8 307  94 001 0.903 b 5 909 171 59.1
1 4 0.009 0.037  91 693  3 405  357 350 0.973 c 5 815 171 63.4
5 5 0.002 0.010  88 288   853  439 308 0.992 5 457 821 61.8

10 5 0.001 0.006  87 435   541  435 825 0.992 5 018 513 57.4
15 5 0.002 0.010  86 895   897  432 230 0.987 4 582 688 52.7
20 5 0.003 0.016  85 997  1 374  426 551 0.981 4 150 458 48.3
25 5 0.004 0.021  84 623  1 793  418 632 0.977 3 723 907 44.0
30 5 0.005 0.025  82 830  2 110  408 875 0.972 3 305 274 39.9
35 5 0.006 0.030  80 720  2 432  397 521 0.967 2 896 400 35.9
40 5 0.007 0.037  78 288  2 874  384 256 0.958 2 498 878 31.9
45 5 0.010 0.047  75 414  3 530  368 245 0.946 2 114 622 28.0
50 5 0.013 0.062  71 884  4 462  348 264 0.927 1 746 377 24.3
55 5 0.018 0.084  67 421  5 696  322 869 0.900 1 398 114 20.7
60 5 0.025 0.116  61 726  7 180  290 681 0.863 1 075 245 17.4
65 5 0.035 0.160  54 546  8 745  250 870 0.813  784 565 14.4
70 5 0.049 0.219  45 802  10 048  203 889 0.747  533 695 11.7
75 5 0.069 0.296  35 754  10 569  152 348 0.647  329 806 9.2
80 5 0.112 0.436  25 185  10 969  98 503 0.518  177 457 7.0
85 5 0.160 0.563  14 216  8 005  51 068 0.402  78 954 5.6
90 5 0.218 0.679  6 211  4 218  20 511 0.298  27 886 4.5
95 5 0.281 0.774  1 993  1 542  6 112 0.171 d  7 375 3.7

100 ω 0.358 1.000   451   451  1 263  1 263 2.8
Mujeres/Females

0 1 0.068 0.065  100 000  6 491  95 456 0.920 b 6 381 848 63.8
1 4 0.010 0.037  93 509  3 491  364 349 0.974 c 6 286 392 67.2
5 5 0.002 0.009  90 018   805  448 079 0.993 5 922 043 65.8

10 5 0.001 0.005  89 214   436  444 977 0.994 5 473 964 61.4
15 5 0.001 0.007  88 777   608  442 366 0.991 5 028 987 56.6
20 5 0.002 0.010  88 169   908  438 574 0.988 4 586 621 52.0
25 5 0.003 0.014  87 261  1 197  433 312 0.985 4 148 047 47.5
30 5 0.003 0.017  86 064  1 450  426 697 0.981 3 714 734 43.2
35 5 0.004 0.020  84 615  1 718  418 777 0.977 3 288 037 38.9
40 5 0.005 0.025  82 896  2 081  409 278 0.971 2 869 260 34.6
45 5 0.007 0.033  80 815  2 635  397 489 0.962 2 459 982 30.4
50 5 0.009 0.044  78 180  3 471  382 226 0.947 2 062 493 26.4
55 5 0.013 0.063  74 710  4 689  361 827 0.924 1 680 267 22.5
60 5 0.019 0.091  70 021  6 348  334 235 0.890 1 318 439 18.8
65 5 0.028 0.132  63 673  8 405  297 353 0.841  984 204 15.5
70 5 0.042 0.191  55 268  10 545  249 977 0.776  686 851 12.4
75 5 0.061 0.265  44 723  11 864  193 954 0.675  436 874 9.8
80 5 0.103 0.407  32 859  13 386  130 830 0.543  242 920 7.4
85 5 0.151 0.541  19 473  10 535  71 028 0.420  112 091 5.8
90 5 0.210 0.665  8 938  5 941  29 839 0.310  41 062 4.6
95 5 0.275 0.766  2 997  2 296  9 247 0.176 d  11 223 3.7

100 ω 0.355 1.000   701   701  1 976  1 976 2.8

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


